
MIFACTORI      Über uns Produkte Methoden Bildung Stadt

+  |  3 G  |  I K E G O

Ikego parts – Flappy Beam,
Flappy Board and 3 Trestles

This post shares 3 new parts for the Ikego parts catalog and 3
new subassemblies for Ikego’s list of subassemblies

1 Flapp Flapp \o/
In collaboration with Arlie Lambright, we have developed two
new universal parts for Ikego that allow you to build several
things. The Flappy Beam and the Flappy Board. A first
documentation of these parts can be found on Arlie’s page. Here
is an updated version of the documentation.

The parts are used in several Ikego sets here on the site. One use
case is the assembly of trestles One possible use is the assembly
of trestles. Documentation on this can be found below the part
documentation.

Flapp Board

Basic InfoBasic Info

What is it: What is it: a board
Material: Material: strong | standard tolerance 
Dimensions: Dimensions: ~420mm x ~80mm x ~18mm | standard
tolerance
Holes:Holes: several holes, Ikego Grid, diameter 6mm, location
see drawing

Get the partGet the part

Buy:Buy: Available as local make
Make:Make: To drill the hole pattern correctly, you can 3D print a
drilling template. Here is one for a board with a width of
80mm: DOWNLOAD STL.  

MetaMeta

Introduced by: Introduced by: Arlie Lambright & Lars Zimmermann
Open:Open: Shared under IPP 1.0
Disclaimer:Disclaimer: This part is just a concept and not fully tested.
You should not assume that it works as indicated and I am
not saying that it does. I disclaim any responsibility or
liability for any damage caused during the construction and
use of products based in whole or in part on the concept
shown here. All information is provided for your use at your
own risk.

Flappy Beam

Basic InfoBasic Info

What is it: What is it: a beam
Material: Material: strong | standard tolerance 
Dimensions: !Dimensions: !360mm x ~80mm x ~18mm | standard
tolerance
Holes:Holes: several holes, Ikego Grid, diameter 10mm and 6mm,
location see drawing

Get the partGet the part

Buy:Buy: Available as local make
Make:Make: To drill the hole pattern correctly, you can 3D print a
drilling template. It will make it easier to make sure the
holes meet. Here is one for a board with a width of 80mm:
DOWNLOAD STL.  

MetaMeta

Introduced by: Introduced by: Arlie Lambright & Lars Zimmermann
Open:Open: Shared under IPP 1.0
Disclaimer:Disclaimer: This part is just a concept and not fully tested.
You should not assume that it works as indicated and I am
not saying that it does. I disclaim any responsibility or
liability for any damage caused during the construction and
use of products based in whole or in part on the concept
shown here. All information is provided for your use at your
own risk.

2 Table Top

Basic InfoBasic Info

What is it: What is it: a baord
Material: Material: strong | standard tolerance 
Dimensions: Dimensions: ~990 x ~510mm x ~16mm | standard tolerance
Holes:Holes: 4 holes, Ikego Grid, diameter 6mm, location see
drawing

Get the partGet the part

Buy:Buy: Available as local make
Make:Make: No instructions available

MetaMeta

Introduced by:Introduced by: Lars Zimmermann
Open:Open: Shared under IPP 1.0
Disclaimer:Disclaimer: This part is just a concept and not fully tested.
You should not assume that it works as indicated and I am
not saying that it does. I disclaim any responsibility or
liability for any damage caused during the construction and
use of products based in whole or in part on the concept
shown here. All information is provided for your use at your
own risk.

3 Trestles
Small Trestle

Description

Just a small trestle. With lots of opportunity to attach additional
things. Height: 400mm.

 

Parts

126.1 – Flap Board, documented above ↑
127.1 – Flappy Beam, documented above ↑
082.2 – M6 Bolt 70mm 
029.1 – M 6 round nut

Meta

Added by: Lars Zimmermann
IP protected: No, and not planned! (IPP 1.0)
Disclaimer: This part is just a concept and not fully tested.
You should not assume that it works as indicated and I am
not saying that it does. I disclaim any responsibility or
liability for any damage caused during the construction and
use of products based in whole or in part on the concept
shown here. All information is provided for your use at your
own risk.

Strong Trestle

Description

Just a trestle. With lots of opportunity to attach additional
things. Height: 700mm.

I K EGO

We create sustainable
products from open
multipurpose parts for →
Ikego

SOC I A L

|⊽|  Newsletter *

[ o°]  Instagram

in  LinkedIn

··  Flickr

https://mifactori.de/
https://mifactori.de/category/mifactori/
https://mifactori.de/category/products/
https://mifactori.de/category/theory/
https://mifactori.de/category/workshops/
https://mifactori.de/category/city-hacking/
https://mifactori.de/deutsch/
https://mifactori.de/category/27/
https://mifactori.de/category/3erlin-grid/
https://mifactori.de/category/ikego/
https://ikego.world/category/parts/
https://ikego.world/category/subassemblies/
https://ikego.world/people/designer-profiles/arlie-lambright/
https://ikego.world/category/parts/
https://arlielambright.com/work/ikego-project
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Part-126.1-Flap-Board-Drawing.png
https://ikego.world/part-design/#tolerance
https://ikego.world/part-design/#tolerance
https://ikego.world/local-make/
https://mifactori.de/wp-content/uploads/2025/01/Flappy-Drill-Helper.zip
https://ikego.world/people/designer-profiles/arlie-lambright/
https://ikego.world/designers/lars-zimmermann/
https://ikego.world/ikego-public-promise-vs-1-0/
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Part-127.1-Flappy-Beam-Drawing.png
https://ikego.world/part-design/#tolerance
https://ikego.world/part-design/#tolerance
https://ikego.world/local-make/
https://mifactori.de/wp-content/uploads/2025/01/Flappy-Drill-Helper.zip
https://ikego.world/people/designer-profiles/arlie-lambright/
https://ikego.world/designers/lars-zimmermann/
https://ikego.world/ikego-public-promise-vs-1-0/
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Part-128.1-Table-Top-Board-990x510mm-Pic-3.png
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Part-128.1-Table-Top-Board-990x510mm-Pic-4.png
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Part-128.1-Table-Top-Drawing.png
https://ikego.world/part-design/#tolerance
https://ikego.world/part-design/#tolerance
https://ikego.world/local-make/
https://ikego.world/designers/lars-zimmermann/
https://ikego.world/ikego-public-promise-vs-1-0/
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Subassembly-Small-Trestle-Add-oon-options-Flappy-World-by-Studio-Mifactori-pic-2-text.png
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Subassembly-Small-Trestle-Add-oon-options-Flappy-World-by-Studio-Mifactori-pic-2.png
https://ikego.world/parts/126-1/
https://ikego.world/parts/126-1/
https://ikego.world/parts/082-2/
https://ikego.world/parts/029-1/
https://mifactori.de/about-mifactori/
https://ikego.world/ikego-public-promise-vs-1-0/
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Subassembly-Strong-Trestle-Add-on-options-Flappy-World-by-Studio-Mifactori-pic-8-Kopie-3.png
https://ikego.world/
https://ikego.world/
http://eepurl.com/gfjH91
https://www.instagram.com/mifactori/
https://www.linkedin.com/company/mifactori/
https://www.flickr.com/photos/larszi/albums/


KONTAKT   |  JOBS |  NEWSLETTER |  NEWSLETTER ARCHIV   |  DATENSCHUTZ

LIZENZ (FALLS NICHT ANDERS VERMERKT):     CC-BY 4.0 (URHEBERRECHT) +  PUBLIC PROMISE   (DESIGNRECHTE)

THIS PAGE IS .NOT. AN ART PROJECT

things. Height: 700mm.

Parts

126.1 – Flap Board, documented above ↑
127.1 – Flappy Beam, documented above ↑
082.2 – M6 Bolt 70mm 
029.1 – M 6 round nut

Meta

Added by: Lars Zimmermann
IP protected: No, and not planned! (IPP 1.0)
Disclaimer: This part is just a concept and not fully tested.
You should not assume that it works as indicated and I am
not saying that it does. I disclaim any responsibility or
liability for any damage caused during the construction and
use of products based in whole or in part on the concept
shown here. All information is provided for your use at your
own risk.

Extra Strong Trestle

Description

Just a strong trestle. Starting from 700mm and extendable. With
lots of opportunity to attach additional things. 

Parts

126.1 – Flap Board, documented above ↑
127.1 – Flappy Beam, documented above ↑
082.2 – M6 Bolt 70mm 
029.1 – M 6 round nut

Meta

Added by: Lars Zimmermann
IP protected: No, and not planned! (IPP 1.0)
Disclaimer: This part is just a concept and not fully tested.
You should not assume that it works as indicated and I am
not saying that it does. I disclaim any responsibility or
liability for any damage caused during the construction and
use of products based in whole or in part on the concept
shown here. All information is provided for your use at your
own risk.

← VORHER

WORMS – Open Source
Chairs

NÄCHSTES →

Flappy Bench

https://mifactori.de/kontakt/
https://mifactori.de/jobs/
http://eepurl.com/gfjH91
https://opencircularity.info/talks/
https://mifactori.de/kontakt/
https://creativecommons.org/licenses/by/4.0/
https://mifactori.de/design-rights/
https://mifactori.de/design-rights/
https://mifactori.de/category/mifactori/
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Subassembly-Strong-Trestle-Add-on-options-Flappy-World-by-Studio-Mifactori-pic-8-Kopie-3.png
https://ikego.world/parts/126-1/
https://ikego.world/parts/126-1/
https://ikego.world/parts/082-2/
https://ikego.world/parts/029-1/
https://mifactori.de/about-mifactori/
https://ikego.world/ikego-public-promise-vs-1-0/
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Subassembly-Extra-Strong-Trestle-Flappy-World-by-Studio-Mifactori-pic-1-Kopie-2.png
https://mifactori.de/wp-content/uploads/2025/01/Ikego-Subassembly-Extra-Strong-Trestle-Add-on-options-Flappy-World-by-Studio-Mifactori-pic-.png
https://ikego.world/parts/126-1/
https://ikego.world/parts/126-1/
https://ikego.world/parts/082-2/
https://ikego.world/parts/029-1/
https://mifactori.de/about-mifactori/
https://ikego.world/ikego-public-promise-vs-1-0/
https://mifactori.de/worms/
https://mifactori.de/flappy-bench/

